Absolute and ordinary Köthe-Toeplitz duals of some generalized sets of difference sequences

Cigdem ASMA BEKTAS

(Received May 16, 2002)

Abstract. In this paper we determine the ordinary Köthe-Toeplitz duals of the sets $\Delta^m \ell_{\infty}(p)$ and $\Delta^m c(p)$ and the absolute Köthe-Toeplitz duals of the sets $\Delta^m c_0(p)$ and $\Delta^m c(p)$ defined by Et and Başarır [8].

Key words: difference sequences, α -, β - and γ -duals.

1. Introduction

Let ω be the space of all complex sequences $x = (x_k)_{k=1}^{\infty}$. Throughout the paper $p = (p_k)_{k=1}^{\infty}$ shall always be an arbitrary sequence of positive reals.

The sequence spaces $\ell_{\infty}(p)$, c(p), $c_0(p)$ and $\ell(p)$ have been studied by various authors: (cf. [2], [3], [5], and [7]).

Ahmad and Mursaleen [1] defined the sequence spaces

$$\Delta \ell_{\infty}(p) = \{ x \in \omega : \Delta x \in \ell_{\infty}(p) \},$$

$$\Delta c(p) = \{ x \in \omega : \Delta x \in c(p) \},$$

$$\Delta c_{0}(p) = \{ x \in \omega : \Delta x \in c_{0}(p) \}$$

where $\Delta x = (x_k - x_{k+1})$. Malkowsky [6] also studied the sequence spaces. After then Et and Başarır [8] defined the sequence spaces

$$\Delta^{m} \ell_{\infty}(p) = \{ x \in \omega : \Delta^{m} x \in \ell_{\infty}(p) \},$$

$$\Delta^{m} c(p) = \{ x \in \omega : \Delta^{m} x \in c(p) \},$$

$$\Delta^{m} c_{0}(p) = \{ x \in \omega : \Delta^{m} x \in c_{0}(p) \}$$

where m is a positive integer, $\Delta^0 x = (x_k)$, $\Delta^m x = (\Delta^m x_k) = (\Delta^{m-1} x_k - \Delta^{m-1} x_{k+1})$, $\Delta^m x_k = \sum_{v=0}^m (-1)^v {m \choose v} x_{k+v}$. Furthermore Et and Başarır [8] determined the absolute Köthe-Toeplitz duals of the set $\Delta^m \ell_{\infty}(p)$.

²⁰⁰⁰ Mathematics Subject Classification: 40C05, 46A45.

The operator

$$D: \Delta^m \ell_{\infty}(p) \to \Delta^m \ell_{\infty}(p)$$

defined by $Dx = (0, 0, ..., x_{m+1}, x_{m+2}, ...)$, where $x = (x_1, x_2, x_3, ...)$ is a linear operator on $\Delta^m \ell_{\infty}(p)$. Furthermore the set

$$D[\Delta^{m} \ell_{\infty}(p)] = D\Delta^{m} \ell_{\infty}(p)$$

= $\{x = (x_{k}) : x \in \Delta^{m} \ell_{\infty}(p), x_{1} = x_{2} = \dots = x_{m} = 0\}$

is a subspace of $\Delta^m \ell_{\infty}(p)$.

Now let us define

$$\Delta^m : D\Delta^m \ell_{\infty}(p) \to \ell_{\infty}(p)$$

$$\Delta^m(x) = y = (\Delta^{m-1} x_k - \Delta^{m-1} x_{k+1}). \tag{1}$$

It can be shown that Δ_r^m is a linear bijection.

2. Köthe-Toeplitz duals

In this section we determine β - and γ -duals of $\Delta^m \ell_{\infty}(p)$ and $\Delta^m c(p)$. Also we give α -dual of $\Delta^m c_0(p)$ and $\Delta^m c(p)$.

Definition 2.1 Let X be a sequence space and define

$$X^{\alpha} = \left\{ a \in \omega : \sum_{k=1}^{\infty} |a_k x_k| < \infty, \text{ for all } x \in X \right\},$$

$$X^{\beta} = \left\{ a \in \omega : \sum_{k=1}^{\infty} a_k x_k \text{ converges, for all } x \in X \right\}$$

$$X^{\gamma} = \left\{ a \in \omega : \sup_{n} \left| \sum_{k=1}^{n} a_k x_k \right| < \infty, \text{ for all } x \in X \right\}.$$

Then X^{α} , X^{β} , X^{γ} are called α -, β -, γ -dual spaces of X, respectively. It is easy to show that $\emptyset \subset X^{\alpha} \subset X^{\beta} \subset X^{\gamma}$. If $X \subset Y$, then $Y^{\eta} \subset X^{\eta}$ for $\eta = \alpha, \beta, \gamma$. We shall write $X^{\alpha\alpha} = (X^{\alpha})^{\alpha}$.

Theorem 2.2 For every strictly positive sequence $p = (p_k)$, we have

- (i) $[\Delta^m c_0(p)]^{\alpha} = D_0^{\alpha}(p),$
- (ii) $[\Delta^m c_0(p)]^{\alpha\alpha} = D_0^{\alpha\alpha}(p)$

where

$$D_0^{\alpha}(p) = \bigcup_{N=2}^{\infty} \left\{ a \in \omega : \sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{k-m} {k-j-1 \choose m-1} N^{-1/p_j} < \infty \right\}$$

and

$$D_0^{\alpha\alpha}(p) = \bigcap_{N=2}^{\infty} \left\{ a \in \omega : \sup_{k \ge m+1} |a_k| \left[\sum_{j=1}^{k-m} \binom{k-j-1}{m-1} N^{-1/p_j} \right]^{-1} < \infty \right\}.$$

(We adopt the usual convention that $\sum_{j=1}^{k-m} {k-j-1 \choose m-1} y_j = 0$ (k-m < 1) for arbitrary y_j .)

Proof. (i) Let $a \in D_0^{\alpha}(p)$ and $x \in \Delta^m c_0(p)$. Then there is an integer k_0 such that $\sup_{k > k_0} |\Delta^m x_k|^{p_k} \leq N^{-1}$, where N is the number in $D_0^{\alpha}(p)$. We put $M = \max_{1 \leq k \leq k_0} |\Delta^m x_k|^{p_k}$, $n = \min_{1 \leq k \leq k_0} p_k$, L = (M+1)N and define the sequence p by $p_k = x_k \cdot L^{-1/n}$ $(k = 1, 2, \ldots)$. Then it is easy to see that $\sup_k |\Delta^m y_k|^{p_k} \leq N^{-1}$.

Since $\sum_{j=1}^{k-m} {k-j-1 \choose m-1} N^{-1/p_j} > \sum_{j=1}^m {k-j-1 \choose m-j} N^{-1/p_j}$ for arbitrary N > 1 $(k = 2m, 2m+1, \ldots), a \in D_0^{\alpha}(p)$ implies

$$\sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{m} {k-j-1 \choose m-j} |\Delta^{m-j} y_j| < \infty.$$

Then

$$\sum_{k=1}^{\infty} |a_k x_k| = L^{1/n} \sum_{k=1}^{\infty} |a_k y_k|$$

$$= L^{1/n} \sum_{k=1}^{\infty} |a_k| \left(\left| \sum_{j=1}^{k-m} (-1)^m \binom{k-j-1}{m-1} \Delta^m y_j + \sum_{j=1}^m (-1)^{m-j} \binom{k-j-1}{m-j} \Delta^{m-j} y_j \right| \right)$$

$$\leq L^{1/n} \sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{k-m} \binom{k-j-1}{m-1} N^{-1/p_j}$$

. .

$$+ L^{1/n} \sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{m} {k-j-1 \choose m-j} |\Delta^{m-j} y_j| \le \infty.$$

So we have $a \in [\Delta^m c_0(p)]^{\alpha}$. Therefore $D_0^{\alpha}(p) \subset [\Delta^m c_0(p)]^{\alpha}$.

Conversely, let $a \notin D_0^{\alpha}(p)$. Then we can determine a strictly increasing sequence (k(s)) of integers such that k(1) = 1 and

$$M_s^m = \sum_{k=k(s)}^{k(s+1)-1} |a_k| \sum_{j=1}^{k-m} {k-j-1 \choose m-1} (s+1)^{-1/p_j} > 1 \quad (s=1,2,\ldots).$$

We define the sequence x by

$$x_k = \sum_{l=1}^{s-1} \sum_{j=k(l)}^{k(l+1)-1} {k-j-1 \choose m-1} (l+1)^{-1/p_j} + \sum_{j=k(s)}^{k-m} {k-j-1 \choose m-1} (s+1)^{-1/p_j}$$

$$(k(s) \le k \le k(s+1) - 1; \ s = 1, 2, \dots).$$

Then it is easy to see that $|\Delta^m x_k|^{p_k} = \frac{1}{s+1} (k(s) \le k \le k(s+1) - 1;$ $s = 1, 2, \ldots)$ hence $x \in \Delta^m c_0(p)$, and $\sum_{k=1}^{\infty} |a_k x_k| \ge \sum_{s=1}^{\infty} = \infty$, i.e. $a \notin [\Delta^m c_0(p)]^{\alpha}$.

(ii) For
$$N = 2, 3, ...,$$
 we put

$$\begin{split} E_N^1 &= \bigg\{ a \in \omega : \sum_{k=1}^\infty |a_k| \sum_{j=1}^{k-m} \binom{k-j-1}{m-1} N^{-1/p_j} < \infty \bigg\}, \\ F_N^1 &= \bigg\{ a \in \omega : \sup_{k \geq m+1} |a_k| \Bigg\lceil \sum_{j=1}^{k-m} \binom{k-j-1}{m-1} N^{-1/p_j} \Bigg\rceil^{-1} < \infty \bigg\}. \end{split}$$

By a well known result (cf. [3, Lemma 4 (iv)]), we have to show $F_N^1 = (E_N^1)^{\alpha}$ ($N = 2, 3, \ldots$). The proof of this is standard and therefore omitted.

Theorem 2.3 For every strictly positive sequence $p = (p_k)$, we have

$$[\Delta^m c(p)]^{\alpha} = D^{\alpha}(p) = D_0^{\alpha}(p) \cap \left\{ a \in \omega : \sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{k-m} {k-j-1 \choose m-1} < \infty \right\}.$$

Proof. Let $a \in D^{\alpha}(p)$ and $x \in \Delta^m c(p)$. Then there is a complex number l such that $|\Delta^m x_k - l|^{p_k} \to 0 \ (k \to \infty)$. We define $y = (y_k)$ by $y_k = x_k + l(-1)^{m+1} \sum_{j=1}^{k-m} {k-j-1 \choose m-1} \ (k=1,2,\ldots)$. Then $y \in \Delta^m c_0(p)$ and

$$\sum_{k=1}^{\infty} |a_k x_k| \le \sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{k-m} {k-j-1 \choose m-1} |\Delta^m y_j|$$

$$+ \sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{m} {k-j-1 \choose m-j} |\Delta^{m-j} y_j|$$

$$+ |l| \sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{k-m} {k-j-1 \choose m-1} < \infty$$

by Theorem 2.2 (i) and since $a \in D^{\alpha}(p)$.

Now let $a \in [\Delta^m c(p)]^{\alpha} \subset [\Delta^m c_0(p)]^{\alpha} = D_0^{\alpha}(p)$ by Theorem 2.2(i). Since the sequence x defined by $x_k = (-1)^m \sum_{j=1}^{k-m} {k-j-1 \choose m-1}$ $(k=1,2,\ldots)$ is in $\Delta^m c(p)$ we have

$$\sum_{k=1}^{\infty} |a_k| \sum_{j=1}^{k-m} {k-j-1 \choose m-1} < \infty.$$

Theorem 2.4 For every strictly positive sequence $p = (p_k)$, we have

(i) $[D\Delta^m \ell_{\infty}(p)]^{\beta} = D_{\infty}^{\beta}(p),$

(ii) $[D\Delta^m \ell_{\infty}(p)]^{\gamma} = D_{\infty}^{\gamma}(p)$

where

$$D_{\infty}^{\beta}(p) = \bigcap_{N>1} \left\{ a \in \omega : \sum_{k=1}^{\infty} a_k \sum_{j=1}^{k-m} \binom{k-j-1}{m-1} N^{1/p_j} \quad converges \ and \\ \sum_{k=1}^{\infty} |R_k| \sum_{j=1}^{k-m+1} \binom{k-j-1}{m-2} N^{1/p_j} < \infty \right\},$$

$$D_{\infty}^{\gamma}(p) = \bigcap_{N>1} \left\{ a \in \omega : \sup_{n} \left| \sum_{k=1}^{n} a_k \sum_{j=1}^{k-m} \binom{k-j-1}{m-1} N^{1/p_j} \right| < \infty,$$

$$\sum_{k=1}^{\infty} |R_k| \sum_{j=1}^{k-m+1} \binom{k-j-1}{m-2} N^{1/p_j} < \infty \right\}$$

and $R_k = \sum_{v=k+1}^{\infty} a_v \ (k = 1, 2, \ldots).$

Proof. (i) If $x \in D\Delta^m \ell_{\infty}(p)$ then there exists and only one $y = (y_k) \in \ell_{\infty}(p)$ such that

$$x_k = \sum_{j=1}^{k-m} (-1)^m \binom{k-j-1}{m-1} y_j$$

for sufficiently large k, for instance k > m by (1). Then there is an integer $N > \max\{1, \sup_k |\Delta^m x_k|^{p_k}\}$. Let $a \in D_{\infty}^{\beta}(p)$, and suppose that $\binom{-1}{-1} = 1$ (in some literature it is assumed that $\binom{r}{k} = 0$ for k < 0). Then we may write

$$\sum_{k=1}^{n} a_k x_k = \sum_{k=1}^{n} a_k \left(\sum_{j=1}^{k-m} (-1)^m \binom{k-j-1}{m-1} y_j \right)$$

$$= (-1)^m \sum_{k=1}^{n-m} R_{k+m-1} \sum_{j=1}^{k} \binom{k+m-j-2}{m-2} y_j - R_n x_n. \quad (2)$$

Since $\sum_{k=1}^{\infty} |R_{k+m-1}| \sum_{j=1}^{k} {k+m-j-2 \choose m-2} N^{1/p_j} < \infty$, the series

 $\sum_{k=1}^{\infty} R_{k+m-1} \sum_{j=1}^{k} \binom{k+m-j-2}{m-2} y_j \text{ is absolutely convergent.} \quad \text{Morever by Corollary 2 in [4], the convergence of } \sum_{k=1}^{\infty} a_k \sum_{j=1}^{k-m} \binom{k-j-1}{m-1} N^{1/p_j} \text{ implies } \lim_{n\to\infty} R_n \sum_{j=1}^{n-m} \binom{n-j-1}{m-1} N^{1/p_j} = 0. \quad \text{Hence } \sum_{k=1}^{\infty} a_k x_k \text{ is convergent for all } x \in D\Delta^m \ell_{\infty}(p), \text{ so } a \in [D\Delta^m \ell_{\infty}(p)]^{\beta}.$

Conversely let $a \in [D\Delta^m \ell_{\infty}(p)]^{\beta}$. Then $\sum_{k=1}^{\infty} a_k x_k$ is convergent for each $x \in D\Delta^m \ell_{\infty}(p)$. If we take the sequence $x = (x_k)$ defined by

$$x_k = \begin{cases} 0, & k \le m \\ \sum_{j=1}^{k-m} {k-j-1 \choose m-1} N^{1/p_j}, & k > m \end{cases}$$

then we have

$$\sum_{k=1}^{\infty} a_k \sum_{j=1}^{k-m} {k-j-1 \choose m-1} N^{1/p_j} = \sum_{k=1}^{\infty} a_k x_k < \infty$$

Thus the series $\sum_{k=1}^{\infty} a_k \sum_{j=1}^{k-m} {k-j-1 \choose m-1} N^{1/p_j}$ is convergent. This implies that $\lim_{n\to\infty} R_n \sum_{j=1}^{n-m} {n-j-1 \choose m-1} N^{1/p_j} = 0$ by Corollary 2 in [4].

Now let $a \in [D\Delta^m \ell_{\infty}(p)]^{\beta} - D_{\infty}^{\beta}(p)$. Then

 $\sum_{k=1}^{\infty} |R_k| \sum_{j=1}^{k-m+1} {k-j-1 \choose m-2} N^{1/p_j}$ is divergent, that is,

$$\sum_{k=1}^{\infty} |R_k| \sum_{j=1}^{k-m+1} {k-j-1 \choose m-2} N^{1/p_j} = \infty.$$

We define the sequence $x = (x_k)$ by

$$x_k = \begin{cases} 0, & k \le m \\ \sum_{v=1}^{k-1} \operatorname{sgn} R_v \sum_{j=1}^{v-m+1} {v-j-1 \choose m-2} N^{1/p_j}, & k > m \end{cases}$$

where $a_k > 0$ for all k or $a_k < 0$ for all k. It is trivial that $x = (x_k) \in D\Delta^m \ell_{\infty}(p)$. Then we may write for n > m

$$\sum_{k=1}^{n} a_k x_k = -\sum_{k=1}^{n-m} R_{k+m-1} \Delta x_{k+m-1} - R_n x_n.$$

Since

$$\left(\left(\sum_{v=1}^{n-1} \operatorname{sgn} R_v \sum_{j=1}^{v-m+1} {v-j-1 \choose m-2} N^{1/p_j} \right) \left(\sum_{j=1}^{n-m} {n-j-1 \choose m-1} N^{1/p_j} \right)^{-1} \right) \in \ell_{\infty},$$

now letting $n \to \infty$ we get

$$\sum_{k=1}^{\infty} a_k x_k = \sum_{k=1}^{\infty} |R_{k+m-1}| \sum_{j=1}^{k} {k+m-j-2 \choose m-2} N^{1/p_j} = \infty.$$

This contradicts to $a \in [D\Delta^m \ell_{\infty}(p)]^{\beta}$. Hence $a \in D_{\infty}^{\beta}(p)$.

(ii) can be proved by the same way as above, using Corollary 1 in \Box

Lemma 2.5
$$[D\Delta^m \ell_{\infty}(p)]^{\eta} = [D\Delta^m c(p)]^{\eta}$$
 for $\eta = \beta$ or γ .

Proof is trivial.

Lemma 2.6 (i)
$$[\Delta^m \ell_{\infty}(p)]^{\eta} = [D\Delta^m \ell_{\infty}(p)]^{\eta}$$
,
(ii) $[\Delta^m c(p)]^{\eta} = [D\Delta^m c(p)]^{\eta}$ for $\eta = \beta$ or γ .

(ii) $[\Delta \ c(p)] = [D\Delta \ c(p)] \cdot Joi ij = p oi$

Corollary 2.7 Let X stand for ℓ_{∞} or c. Then

i)
$$[\Delta^m X(p)]^{\beta} = \bigcap_{N>1} \left\{ a \in \omega : \sum_{k=1}^{\infty} a_k \sum_{j=1}^{k-m} {k-j-1 \choose m-1} N^{1/p_j} \text{ converges} \right.$$

 $and \sum_{k=1}^{\infty} |R_k| \sum_{j=1}^{k-m+1} {k-j-1 \choose m-2} N^{1/p_j} < \infty \right\},$

ii)
$$[\Delta^m X(p)]^{\gamma} = \bigcap_{N>1} \left\{ a \in \omega : \sup_n \left| \sum_{k=1}^n a_k \sum_{j=1}^{k-m} {k-j-1 \choose m-1} N^{1/p_j} \right| < \infty, \right.$$

 $\sum_{k=1}^\infty |R_k| \sum_{j=1}^{k-m+1} {k-j-1 \choose m-2} N^{1/p_j} < \infty \right\}$

where $R_k = \sum_{v=k+1}^{\infty} a_v$.

Proof is omitted.

References

- [1] Ahmad Z.U. and Mursaleen, Köthe-Toeplitz duals of some new sequence spaces and their matrix maps. Publ. Inst. Math. (Beograd) 42 (56) (1987), 57-61.
- [2] Lascarides C.G., A study of certain sequence spaces of Maddox and a generalization of a theorem of Iyer. Pacific J. Math. 38 (1971), 487-500.
- [3] Lascarides C.G. and Maddox I.J., Matrix transformations between some classes of sequences. Proc. Cambridge Phil. Soc. 68 (1970), 99-104.
- [4] Kizmaz H., On certain sequence spaces. Canadian Math. Bull. 24 (1981), 169-176.
- [5] Maddox I.J, Continuous and Köthe-Toeplitz duals of certain sequence spaces. Proc. Cambridge Phil. Soc. 65 (1967), 471-475.
- [6] Malkowsky E., A note on the Köthe-Toeplitz duals of generalized sets of bounded and convergent difference sequences. J. Analysis 4 (1996), 81–91.
- [7] Simons S., The sequence spaces $\ell(p_v)$ and $m(p_v)$. Proc. London Math. Soc. 15 (1965), 422-436.
- [8] Et M. and Başarır M., On some new generalized difference sequence spaces. Periodica Mathematica Hungarica 35 (3) (1997), 169-175.

Department of Mathematics
Faculty of Sciences and Arts
Firat University
Elazig 23119, Turkey
E-mail: cigdemas78@hotmail.com